
R0000962E Bench assemble Y axis Components

Instructions for assembling components

Introduction
Tools Required

Standard hex key set

Fine emery tape

solvent

Standard drill set

Parts Required

B0000086 Ball Bearing 15 D 32 D 9 Long + seals x 2

B0000139 Double Angular Bearing 20 D 47 D 20.6 Long + seals x 1

B0000236 90 Deg Grease Nipple M6 ST/ST x 1

C0001122K Servo Motor: Beckhoff AM8032-1E10 (Keyed) x 1

D0001926 Servo Drive Coupling M20 (Ø14mm) Beckhoff x 1

D0006488 Y Leadscrew Sleeve x 1

H0007789 Y Leadscrew x 1

Hard 1 hour(s) Dif>culty  Duration

Contents

Introduction

Step 1 - Unless otherwise stated

Step 2 - Check >t of D0001926

Step 3 - Fit bearing

Step 4 - Tension drive coupling

Step 5 - Finalise

Step 6 - Check >t of leadscrew to coupling

Step 7 - Check bearing >t

Step 8 - Fit Grease nipple and check nut orientation n

Comments

Page 1 / 11



Step 1 - Unless otherwise stated
Use locktite 243 on all fasteners

Use loctite 572 on all threaded pneumatic connection

Pen mark all fasteners to show >nalised

Step 2 - Check >t of D0001926
Ensure D0001926 Servo Drive Coupling M20 (Ø14mm) Beckhoff x 1

>ts onto C0001122K Servo Motor: Beckhoff AM8032-1E10 (Keyed) x 1

Fit should be a snug slide >t

Part can be reamed with hand reamer if >t is tight



Step 3 - Fit bearing
1 Check and adjust >t of B0000139 Double Angular Bearing 20 D 47 D 20.6 Long + seals x 1 onto D0006488 Y Leadscrew Sleeve x 1

2 Fit should be a smooth press >t onto sleeve. Indicated face can be polished down with >ne emery to obtain desired >t

...Only polish a small amount at a time , to ensure to correct amount is taken of the sleeve

Page 2 / 11

https://stuga.dokit.app/wiki/Fichier:R0015086_Assemble_Pneumatics_on_to_electrical_cabinet_loctite_243.png
https://stuga.dokit.app/wiki/Fichier:R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_094611.png
https://stuga.dokit.app/wiki/Fichier:R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095926.png


Page 3 / 11

https://stuga.dokit.app/images/thumb/9/92/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_094647.png/ia-4c83391cccd382c0c08bb7f55e922d00-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_094647.png.png
https://stuga.dokit.app/images/thumb/1/15/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_094655.png/ia-c26a267258deb00682a94b9c32292b4c-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_094655.png.png
https://stuga.dokit.app/wiki/Fichier:R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095932.png
https://stuga.dokit.app/wiki/Fichier:R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095917.png




Step 4 - Tension drive coupling
1 Add m8 socket caps as shown to hold assembly in vice

2 Use 2 off m8 long socket caps and Standard M8 nuts and lock onto drive coupling .

...Ensure end of socket cap doesn't touch inner part as rotation is required to tension

Tension using long M8s as leverage

Step 5 - Finalise
1 Remove 1 off Long M8 socket cap and tension an M8 x 12 kcp grubscrew into the hole (do not add adhesive )

2 Remove second Long M8 socket cap and dimple inner shaft using 6.8mm drill

Clean with compressed air and add M8x 8 kcp with adhesive and tension

3 Remove m8 x 12 kcp grub screw and repeat above step

Page 4 / 11

https://stuga.dokit.app/images/thumb/3/3c/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095733.png/ia-6ab1494e740deb5a44c45a22b4f36b92-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095733.png.png
https://stuga.dokit.app/images/thumb/c/c4/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095935.png/ia-2b481c944624d4282427f5382c123e8b-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095935.png.png


Page 5 / 11

https://stuga.dokit.app/images/thumb/c/c4/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095935.png/ia-392c0f45da1bda81baf4522e2f8e5763-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095935.png.png
https://stuga.dokit.app/images/thumb/9/92/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095840.png/ia-55aa3670770ca9547dc688ab9872a4ec-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095840.png.png


Page 6 / 11

https://stuga.dokit.app/images/thumb/2/28/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095940.png/ia-e75005bfaf1b0232bd84e90b9c421af2-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_095940.png.png


Page 7 / 11

https://stuga.dokit.app/images/thumb/1/11/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103256.png/ia-63df4ed00ce87b8268bd9b8c3618671b-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103256.png.png


Step 6 - Check >t of leadscrew to coupling
1 Check >t of coupling to leadscrew H0007789

2 Use reamer / Emery tape if >t is tight

Step 7 - Check bearing >t
1 Check bearing B0000086 Ball Bearing 15 D 32 D 9 Long + seals >t is acceptable on leadscrew H0007789

2 Adjust with emery tape if >t is tight

Page 8 / 11

https://stuga.dokit.app/images/thumb/2/2a/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103608.png/ia-6a41255dcb48d17c42fc46534ffd1812-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103608.png.png
https://stuga.dokit.app/images/thumb/e/e6/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103446.png/ia-194250934c8bf798ac7e3f11d1124a24-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103446.png.png


Page 9 / 11

https://stuga.dokit.app/images/thumb/e/e9/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103933.png/ia-becf5b7c94c574bf37e8e6e69b52f1b3-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103933.png.png
https://stuga.dokit.app/images/thumb/2/27/R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_104005.png/ia-282e0af307be49cbda0216f32e87aba2-1000px-R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_104005.png.png


Step 8 - Fit Grease nipple and check
nut orientation n
Fit B0000236 90 Deg Grease Nipple M6 ST/ST x 1 as shown

Check Leadscrew nut is orientated correctly , rotate using

leadscrew jig if incorrectly orientated

Page 10 / 11

https://stuga.dokit.app/wiki/Fichier:R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_103955.png
https://stuga.dokit.app/wiki/Fichier:R0000962E_Bench_assemble_Y_axis_Components_Screenshot_2023-07-18_104121.png


Page 11 / 11


	R0000962E Bench assemble Y axis Components
	Contents
	Introduction
	Step 1 - Unless otherwise stated
	Step 2 - Check fit of D0001926
	Step 3 - Fit bearing
	Step 4 - Tension drive coupling
	Step 5 - Finalise
	Step 6 - Check fit of leadscrew to coupling
	Step 7 - Check bearing fit
	Step 8 - Fit Grease nipple and check nut orientation n


